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L.

Who is the current Chairperson of SEBI

(Securities and Exchange Board of India)?
(A) AjayTyagi

(B) Tuhin Kanta Pandey

(C) U.K.Sinha

(D) Subhash Khuqtia

Which is the first state in India to implement
Uniform Civil Code (UCC)?

(A) Goa

(B) Uttarakhand

(C) Gujarat

(D) Himachal Pradesh

India signed a defense pact with which country
in July 20257

(A) France

(B) Russia

(C) Israel

(D) USA

A car travels 90 km in 1.5 hours. What is its
speed in km/h?

(A) 50km/h

(B) 60km/h

(C) 75km/h

(D) 90km/h

M.A. Geography
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qda & SEBI (wrd@ wierfer o fafr &2)
3 oAy N 87

(A) 3 @

(B) T FT TS

(C) 9.%. =t

(D) g e

IRA B TEel o9 oA g A g
(UCC) @] &, Hi=-41 &7

(A) i@

(B) ITEE

(C) e

(D) fearEe wad

IR 7 qER 2025 § W AW & ;@ w
FaEan fea?

(A) W&

(B) =H

(C) zoruEd

(D) MR

uF &R 1.5 5§ 90 FEdt da wd B IwH
e Rt aver § @ 27

(A) 50 fepet =,

(B) 60 et /A.

(C) 75 Fi/a.

(D) 90 fit /A
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5.

Ifthere isa 10% loss on selling an article for

Rs. 450, what is the cost price?

(A) T500

(B) %460

(C) %480

(D) %490

[f COLD is coded as DPME, how will HEAT
be coded?

(A) IDBU

(B) IFBU

(C) IGCV

(D) JDA\./

Pointihg to aman, Meena said, "He is the son

of' my grandfather’s only son." Who is the man

to Meena?
(A) Uncle
(B) Cousin
(C) Brother

(D) Nephew

What comesnext: Z, X, V, T, .......2
(A) Q
B) P
©) S

(D) R

M.A. Geography
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(A) F500
(B) T460
(C) T480
(D) 3490

gi COLD & DPME & &9 ¥ @i 5 @
?, @ HEAT # 38 #e R smom?

(A) IDBU

(B) IFBU

(C) IGCV

(D) IDAV

U | % Afth # Y 39N aX el ‘aE BY

A B FEAG §F F GT 217 98 @R q9 H@
H 87

(A) =
(B) == i
(C) wg
(D) W

el 7 I FeR FMEm: Z, X, V. T, ... 2
(A) Q
B) P
©) S

D) R
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9.

10.

I1.

Five people — A, B, C, D and E —are sitting in
arow. B is to the immediate right of D. C is at
the extreme left. A is to the immediate left of E.

Who is sitting in the middle?
(A) D
(B) A
(C) B

D) E

The bar graph shows the number of students in

3 years.

Year  Students
2022 120
2023 150
2024 180

What is the average number of students over 3

years?

(A) 150

(B) 140

(C) 120

(D) 155

Ram walks 10 m north, then turns right and

walks 5 m. Then turns right again and walks 10

m. In which direction is he facing now?
(A). North

(B) South

(C) East

(D) West

M.A. Geography
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10.

5

9fF @ A, B, C, D &R E - w5 ufw § 2
2B, D 3 3% a¢ X 81 C w8 T8
AT R A, EDIF 9 X 3w ¥ @
et #7

(A) D
B) A
(C) B

(D) E

I MG 3 aut § eEl & gErn s &

i
2022

B
120

2023 150

2024 180
= aut § fenfeiat @ ofma den @ 27

(A) 150
(B) 140
(©) 120
(D) 155
9 10 Hex IO & o gaar 8, fw I

gea S der Tw @, Y e gt 10 et
AR geen 21 o g fm Ran § 2w T #7

(A) ITT.
(B) =™

©
(D) =
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12.

13.

14.

5.

16.

Which Indian space mission achieved successful
re-entry test of the Gaganyaan Crew Module
in 2024?

(A) Gaganyaan TV-DI

(B) Chandrayaan-3

(C) Adityal.l

(D) TV-D2

India’s first Al-focused university will be set up
in which state? '

(A) Karnataka

(B) Maharashtra

(C) Telangana

(D) Tamil Nadu

Select the synonym of "Conceal" :
(A) Reveal

(B). Hide

(C) Open

(D) Show

Select the antonym of "Generous" :
(A) Mean

(B) Kind

(C) Helpful

(D) Noble

Choose the correct tense:
She

in London since 2018.
(A) isliving

(B) lived

(C) hasbeen living

(D) lives

M.A. Geography
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12,

13.

16.

2024 % Gaganyaan % Hieqq & T%a G-
LT 6 faee % i 537

(A) TFEE 2E-2

(B) =saM-3

(C) enfemr L1

(D) &di-2n2

ARG & Yeall Al aeia fasafeenas g v
§ e emm?

(A) FAtes

(B) =errg

(C) T

(D) afeerrg

. Select the synonym of "Conceal " :

(A) Reveal
B) Hide

(C) Open
(D) Show

. Select the antonym of "Generous" :

(A) Mean
(B) Kind

(C) Helpful
(D) Noble

Choose the correct tense:
She. -~ 58

in London since 2018.
(A) isliving

(B) lived

(C) hasbeen living

(D) lives
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17. ‘@fr @ wEiaEr o= e
(A)
(B) T3
(C) wa®

(D) &

18. ‘geiEr @ facim 9tz @ 87
(A) e
(B) dee
(C) TR
(D) STrarE

19. ‘SIedr ores | e @ fpar faser 87
(A) T =
(B) & ardsh
(C) fafy a=

(D) HEAEES

20. Who invented Email?
(A) Tim Berners-Lee
(B) Charles Babbage
(C) Ray Tomlinson

(D) BillGates

21. What is the main function of'a hard disk?
(A) Collecting data
(B) Performing calculations
(C) Givinginput

(D) Showingoutput

M.A. Geography
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18.

19.

20.

=21

‘G 1 qaigar = # e
(A) &
(B) a3
(C) dras

(D) STt

‘geiEr &1 fem g @ 87
(A) U

(B) e

(C) foaredr

(D) SATefreFT

‘Tl T 5 A B fadiaer @7
(A) GHIarES
(B) FUEES
(C) Taitars

(D) GEEES

-9 @ arfqwpr feee e en?

(A) fe sE-

(B) A Fa

(C) X dmfeaa

(D) et Tz

g fewb (Hard Disk) & J&1 & &1 27
(A) ETE I8 HE0

(B) TUET AT

(C) Tge &

(D) mgeye faEm

PTO.



22.

23.

24.

Z3.

What is "Transition" used for in PowerPoint?
(A) Editing text

(B) Adding effects between slides

(C) Adjusting audio

(D) Changing the format

Full form of ALU is:

(A) Arithmetic List Unit
(B) Advanced Logic Unit
(C) Array Logic Utility

(D) Arithmetic Logical Unit

Full form of CD-ROM is:
(A) Compact Disc—Read On Memory
(B) Compact Disc —Read Only Memory

(C) Control Disc—Read Only Memory

(D) Computer Disc — Random Operating

Memory

What is the full form of DNS?
(A) Digital Network Service

(B) Data Node Server

(C) Domain Network Server

(D) Domain Name System

M.A. Geography
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22

23.

24.

UieX dig & o9 i 39T fhas e aar 27

(A) e ufsfe
(B) wEeH % siF UHE SiaH
(C) oiffeat vewwe &

(D) % SEeH

ALU % &7 % 2 :
(A) St g 3hr
(B) 3@ T TR
(C) arvit T% I

(D) SiHIvEg qies e

CD-ROM # %« 1 #1 &7

(A) Fee fom - fre-a A
(B) #MFe fevp - fe-aimell A6
(C) g fow - frs-oimeit A

(D) #YX & - Yeq Siwfer aad

. DNS & gq wif o 27

(A) feféted deam &ar
(B) 21 i® |Y
(C) =W Jeas |y

(D) W9 AM goTel
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26. The modern theory regarding the origin of the 26. SEUES F IR T g HEid §

Universe is—
(A) Nebulahypothesis (A) el i
(B) BigBang theory (B) famr s fomaia
(C) Binary theory (C) 2aws Freid
(D) Planetessimal Hypothesis (D) Were] GReheaT
27. Which ofthe following states does not shareits | 27. Fifefad Tt & & HF-a1 T qFaRe 4
border with Bangladesh ? T Frr TE e 87
(A) Assam (A) I8
(B) Mizoram (B) feiH
(C) Meghalaya (C) mE@™
(D) Nagaland (D) e
28. The race to which Nordic belongs is : 28. Hiféeh forg =il & R, q® B -
(A) Negroid (A) #imEs
(B) Mongoloid (B) #idiEs
(C) Caucasoid (C) FHHEs
(D) Negrito (D) FfE
29. Which ofthe following pairs is correct ? 29. Pl & & BA-ar e @ 27
River State T K|
(A) Indravati - Jharkhand (A) =l - FARETS
(B) Bhima - TamilNadu (B) #m - g
(C) Loonie - Rajasthan ©) - - ToEE
(D) Ghataprabha -  Kerala (D) gEE T - &
30. Uvalais formed by what? 30. 7awm 1 AT e | e 8
(A) Ocean waves (A) GFE @&
(B) Underground water (B) HfFE =iw
(C) Wind (€) T
(D) River (D) &

M.A. Geography ' [9] PT.0.
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1.

Z.

(8]

Match list-Iwith list-1I correctly and select the

correctanswer using the code given below the

lists —
List-1 List-I1
‘ (Tribe) (State)
(a) Chamal - 1. Arunachal
Pradesh
(b) Dafla - 2. Orissa
(¢) Dhurwa - 3. Rajasthan
(d) Garasia - 4. Tripura
Code :
@ (b)) () (@
(A) 1 2 3 4
B) 3 3 1 4

<) 4 2 1 3

D) 4 1 2 3

Which one of the following biomes has the
highest species diversity? |
(A) Temperate forests

(B) Tropical rain forest

(C) Temperate deciduous forest

(D) Temperate grasslands

Arrange the following states of India in
decreasing order of their geographical area?

1. Rajasthan

2. Tamil Nadu

3. Maharashtra

4. Karnataka

ML.A. Geography
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31 g - 1 # gl - 11 % | @ gafed $ife

A gl & 2 R T g B 5@ BT
I G-

gd -1 T - 1

- (STeFeTer) (=)
(a) a7 - 1. ITEUIES Ry
(b) W - 2. 3EmEr
(c) & - 3. e
(d) i - 4. Bgu
-

@ b © @

A) 1 2 3 4
B) 3 2 | 4

C) 4 2 I

(S

D) 4 1 2

2

. Frefafed st & & fPa we ¥ galfos

aftfor-fafasrar et s 27
(A) sidmeT g9

(B) Swihicedim aui-a9
(C) sficdroT quiardt a9

(D) <o g

. 9RA 3 F=fafEad o=t @ 39 A 89 3

qed FH F e Fivd -

. T
2. ditwrg
3. MR
4. FACH

Contd...



36.

Code :
(A) 1,2,3,4

,1,4,2

(O8]

(B)

(©) 1.3,

4,2

(D) 3,4,1,2

. 'Mahi Sugandha' is a variety of which crop?

(A) Rice
(B) Cotton
(C) Maize

(D) Wheat

. What is the ratio of the plot of ocean floor

plotted from a base line called ?

(A) Altitude curve

(B) Hygroscopic curve

(C) Hygrometric curve

(D) Emerging curve

What is the direction of cyclone in the southern
hemisphere?

(A) Anti-Clockwise

(B) Clockwise

(C) Inastraight line

(D) Vertically

M.A. Geography

[11]

()

34,

36.

-
A 1,2,3,4

B)

D) 3,

‘qrél geEr e wEa e 87
(A) dmEda
(B) Hurd

(C) W

(D)

. 5 o @ 9 ordfad geM i a9 @

T@S 3 I H F Fod 87
(A) g %

(B) S=aamEstt a%

(C) erEammndt a%

(D) I 9%

Zierft Tiard o =A@ e & Bl 87

(A) @St & g3dl & fauda
(B) ¥t &1 g F TR
(C) @t Yar #

(D) SR =y |

PT.O.



37.

38.

39

M.A. Geography

Match list-I with list-II correctly and select the
correct answer using the code given below the

lists —

List-1 List-11
(Area) (Mineral)
(a)  Caucasus - 1. Mineral Oil
(b)  Sakhalin - 2. Iron Ore
(c)  Magnitogorsk - 3. Coal
(d) Karaganda - 4. Copper

Code:

@@ (b (0 (d)
(A) 4 1 2

(98]

B) 3 g 1 4
© 4 2 1

W

D) 1 2 3 4

Who was the proponent of the concentric theory
of urban morphology?

(A) Burgess

(B) Hoyt

(C) Ulman

(D) Mumford

Which of the following forms a wall when
magma solidifies and is approximately

perpendicular to the bed of sendimentary

rocks?

(A) Dyke
(B) Sills
(C) Lapilli
(D) Breccia

37. FE-1 & G-l § A el gaied it ek

38.

39.

[12]

gfEl & = RU MU e H 9T & O I
ﬂﬁﬂ-

gH-1 ga-11

(8) ()
(a) FHIH - 1. @9 od
(b) T - 2. AE-ATE
(c) AfVErme - 3.
(d) TR - 4. dmEr
EQ?‘: £

@ ® @© @

(A) 4 1 2 3
B) 3 2 I 4
C) 4 2 I 3

D) 1 2 3 4

THE Agfdea™ & dh=l g0 HE @
ufeaes B 97

(A) T4

(B) &Fe

(C) ITm™

(D) TEE

frafafag & @ S9-a1 T & 39 8 W dER
# e Fffa & § qon St cEEdl S

(Sedimentary rocks) & W& U AT Eaq
B 87

(A) =13%
(B) e
(C) el
(D) FameH

Contd...



40.

41.

42.

43,

The nearest star to the solar system is :

(A) Praxima sanctuary

(B) Polar star

(C) Pluto

(D) Makemate

The Cauvery water dispute is between which
two Indian states ?

(A) Tamil Nadu and Karnataka

(B) Keralaand Andhra Pradesh

(C) Maharashtra and Gujarat

(D) Uttar Pradesh and Bihar

Who is considered the father of Population
Geography ?

(A) F.Ratzel

(B) John Iseard

(C) Wilbur Zelinsky

(D) John Clarke

'Malthus theory' is related to :

(A) Economic Development

(B) Agricultural Production

(C) Population and Resource Balance

(D) Urban Development

M.A. Geography
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41.

42.

40. S H e AT @ ¢

(A) ik Agerdt

(B) ga am

(C€) &

(D) e

AR | ‘Pl Ta o fqare’ B & o & 9=
87

(A) dferTg AR Fieh

(B) ¥ &l atig mRsr

(€) wewrg & IoeE

(D) T T &R faBr

STHEAT A E [ AT ST 87

(A) el gt
(B) I emETE
(C) ot it
(D) St

. ‘O i EeE geta 27

(A) enfis fasm
(B) P I
(C) SEe ik Hare He
(D) T
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44,

45.

46.

47.

When did the Environment Protection Act come

into force in India?
(A) 1972
(B) 1986
(C) 1992

(D) 2000

What is the full form of ENSO?

(A) EINifio Southern Oscillation

(B) Earth Natural System Operation
(C) Environmental Surface Observation

(D) Earth Neutral System Option

In Koppen climate classification” A’ stands for:
(A) Desertclimate

(B) Cold climate

(C) Tropical climate

(D) Mountain climate

The Devisian cycle isrelated to :
(A) Climate

(B) Topography Development
(C) Population growth

(D) Topographic maps

M.A. Geography
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44.

45.

46.

47,

AR H vl H© st F4 ) gen?

(A) 1972
(B) 1986
(C) 1992

D) 2000

ENSO & qof &v #n 87

(A) ElNifio Southern Oscillation

(B) Earth Natural System Operation
(C) Environmental Surface Observation

(D) Earth Neutral System Option
FIA @y e & AT #1 o & @
(A) THEIIE STarg

(B) i Siweryg
(C) Tohiesdid Swarg

(D) Yddig Swarg

faferm Mg 2f| @ =% fFad qdim 27

(A) Sidarg

(B) =y fawE
(C) sFHeE g

(D) T@EE T
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48.

49,

50.

What is the average salinity of ocean water?
(A) 2%

B) 35%

(C) 50%

(D) 100%

Which of the following is a warm ocean current ?
(A) Labrador current

(B) California current

(C) Gulfstream

(D) Kuroshio

Which institute is premier in India for
oceanographic research ?

(A) ISRO

(B) DRDO

(C) INCOIS

(D) BARC

M.A. Geography
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48.

49,

50.

HYE ST H ST @O WY 27
(A) 2%
(B) 35%
(C) 50%

(D) 100%

PH-8l HEFFE =R m’r 27

(A) TAER

(B) Ffifar e

(©) & &M

(D) FafErE
waﬁﬁq—ﬁﬁwwhﬁsﬁaﬁm
27

(A) ISRO

(B) DRDO

(C) INCOIS

(D) BARC
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